B 3 8 2012.12.7 28h

%ﬁ:*ﬁ‘a%
EiRTF AR iﬁt%

5% <5

> | Bk A

A EFERAAELLE
G5 R VE B0 I ok 94T, —

? 7 B AR B AR RIS

AT

XWETERERETH T ILEF

%Wﬁ%%ﬂ% B
o 2+ HEWAE

%%%%

Bt b A

NE, “ARERE M EER B2
EXRE PR, T, A ELIET
HREAZEAFERGRHNZESES
Fam O ENAN T ER, A E
WMABEAFHEAET T TRER
A TE R B R B RER, R R T 4k
SR EERET LML R,

EESSTEdTER

FEE

M HEERKE iRl
HrIE T 1998412 3 AR\l , Bl
F10J7 kK, MENERE R SR
JEE, AERET B,
PUE &AL — 5= E L, 81

it
@ﬁﬂ

U3 B E R =
TR T IIE BRI Z)E 2
HEEFEREREINE25RIE, Bl
10575k, KEFITREE
RS, ELrp P R i R U
ZERARZ [E R — 2 A E A
i, e R BTS2 A
ERFI1ESH 23RS i
HGE E—r—db, AT
EANWTISSE, 7EXIETEEN
FERBRF EE), MBEAES
tk&E, Sl9EEREEA—

=z,

DERHFTL,

el =B AR
BEMIR

HELBENREE
FEEDNWER, it
HEPNRAERSE
EAEE S F bR
. Bk A
LY i R 28 2
2 B bR l W—

THERRETHBAEES H EARKE R
MIEL AR, Bl R B
A N RN A

X R I . 20094295 19H
G TR RS, SRR S B4
AR B S Y R 5 T R
W, HRSS R AR R EL A B

T — RS DT

20084E8H , MRMXER
PRI Bl oe | & T
fic & & JifE 58 2 19 5 J& shop—

I?ﬁ%%fﬂ\*%ﬂ%ﬁﬁ*bb?%‘ﬁ’]&
Jéo HIKR, L H B s A e
IR, mHE/FEREA
HYBE SIS R, K, IR H 2/
HIFTA R A T A AU M R 52
MG —EH, fERITEE
B EJIRIEI KI5, BAENHTE
MEFEHIEPIIAR .

DDM/

Higft—

FEEFRS E, AZREE
ﬁ*ﬂﬁﬁ%??%ﬁ%ﬂ@%‘é,ﬁ]
SEREAT R S E S T I AT
Iﬂ AT EBIRIE | SRS\
KRIRSS A . AT A H &R E]
HEA—-FEZWTHIR .

JL

Sk

R

E N ot e AR S5

LR, HEEBIRE A,
BRI H BN AR SRR
WAL, EESIEEhE B A
MR R X HIFMBERERE; N
FUBRAU LR EHE , I A,
WS T RIFAIE S DR,
LESRR iR
EAEZ A B Il s,

ok, H 2Kk

ms"

.
i

ARERIFTR R R RS, fEH

BRENANASLS, AEH

ik,
FRHAE

T,

JE AR R
Fox, AE %%Eﬁmiﬁff%%tmﬁ

H BB IRA

@%%MM@mfé
o~ fir, Wz
TN EHE L K
L, R R

HhmE A 2= R

FEFHRUE R . BT HADSE A
TEERRR, EHAES L,
HAEFE pEd EBHA
Wik E L MR T R A &
RS E AT, NE SRR ET
PpRIRIE A R VR N BE R HI TR o

BEXIEHRR HO

EEBOSSHY

KRB, F 20104 R 18

XA

=N

JERLT

SR BT D 1 A 2 S
HAHM2010E3HEREE) “H
HEF AL, B EH
A W R VEIL CEIN IR
PN AT W IRIE KB R
NS RBEBRE (E
WO B H A2 5 ABETEER
ﬁ“?"#&?’lﬂ’ﬁﬁ%’ Aok, HERERBRS N FE

XK IE R B
B A
2 # 1 <L R =

| IR
b, GBI

Y BLARHR
2 TN

Fa

RRIES: THE
TRE&F0005545

hEREREaHtERYFa T EL maERSS fas A B C A9 7™ b 5 G0 h
=S == S SiE i ==

—

85 8

= 000785 =

1/12 100m? #5 3=

BH:QEIJJE frfE 130 77 8535?861

iw BE3E

# 105 5 8535

I

5/6 61m? X F
EIE 53 75 85235219

L E

4/6 109.96m? = ZIR{R
£ E 150 77 85436067

R

12/18 151.14m? i 5% ff i
# /N X 280 7 85405396

o B Z3E

3/6 40m? HEEIEE
£3% 65 77 85862909

2/6 89m? F =R

5/5 52m?

ST H5 | 7/12 96.5m? FEE=E TR
W;IHST Bl & £ 121 77 85395812

2/7 58.85m? B SA i
O 74 71 85365279

7o FR3HH 3 5

5/5 50.52m? 07 iﬁtézé
ih ¥k 61 75 85156434

m 12/13 141m? i & & 1= 35 7/7 52.73m% T L I 7K 8| gt A &1 [3/4 59m? F i 28 7% [l 5/6 135m" BRR=REE = 3 5 | 1/4 294m2 W HF B B = 5/6 58.58m? 1.5k O I e 2 |6/6 68m? 3 & X 1K A
RAREWE F )4 176 77 85356861 gﬁ'&ﬁ B8 1% 108 77 85405308 ﬁ!ﬁ L 1T 84 77 85416487 ﬁﬁéﬁ E 4 180 7 85862902 Wﬁ;iﬁ' # 650 A sssazsoo £ B 72 77 85356863 ?F\#ﬁ 35 0 78 5 85506683
m 10/12 94.84m” BB ORHEIL = 4} 6/7 65mZ (KA O | & 1’ T =R 5 RFK| a2 = 4/11 107m i&i&tnf*ﬁﬂ% 6/7 184m” i fE 5 620 111m? R O£ MR pqy a1 25 25(8/11 8om”> R E A &
Bﬂtﬁim& NS 121 /5 85262811 A §E—*1 % X T il 85368399 3T ﬁﬁﬁ BEZB 1307 85356892 :'?ﬁ-’”l’: # F 160 77 85431622 s_ili!i % 79 7 8538717)83 ] #4115 J5 85416808 W;Iﬂ'-r |5 105 75 85237239

m 11/11 198m? F&3E BX 3/7 73.15m° £ R A A 4/6 59m” HhEk 15 3| a2 = 111 mem?%so TR 4/6 109m? Fr == i fE = 477 90m? iB R MK Y| gy & 11/12 89m? X #% % |
mt&ng B 220 77 85476665 H -”E*‘T J # 108 77 85353565 %ﬁE?E WS 84 75 85339096 :-?Z’E'a’ﬁ = i % 155 71 85365279, E_iﬁ’z B 815 7 853?;1313 fLHE3E 105 77 85416487 m;I?E;E 2% 113 77 85237219

1711 121.48m? b5k O %

MEREWE %5 15 5 Pl

Astm#

707 111.5m? K52 2 B
HARIE 130 7;‘ 85356886

o BRERAE|

1/6 56m?2 X @a 30 =
B T i 85476050

s0 17 B

5/6 87.87m b ¥k O B Kt
#% % 132.8 77 85353556

=k

3/6 110m? 5t & % i&
fi{E 86 77 85381913

AhERe

5/7 67.12m> L%k O /@ b
A% 0 78 F 83246667

18 B S

6/7 180.56m? b gk LI #% |
$1{& 230 75 58718892

. 2 = & = 2 2 = 3 2 o AE S / 2 2 = / 2 =] B
BABEWE 225705 7 sscvors B SEIUHT 5500 7 saeasrs SIEIRHT i o1 75 sassrenz 1 BIERE 30 55 55 sossascn, e WL Jycie o6 2 sossions B BISHE (' o0 5 ssratess NB B SEYK| i 126 7 soss5007
G = % T < L oasn 22 — TN 5 ot
BARZWE ¥'E'%7 5 soreoos A SEBAHT 7752 7 5 asseease o S0HT Be 1ot b2 % sbasasen L6/ KK 55T 5 boseorre, o | 5t 76 72 sasiross B EEE 22 2100 % soavsson LIBT3 & 755 sosarats
o SR z Y BT BT 5 S e T — > = CEE R
FERLEE &4 o oyl Fr N e ﬁﬁss:’%ssss BRI o0 Pt L?EIJ\E T s o8 R o iﬁﬁ Py P Bt &R e o osrorss, BEH—H# %/}egtanée%gﬂ;ggsssne

FERLEE

9/11 103m? £FARBE R
1 155 77 85353565

RA%—# L

4/6 54.9m* HEHEE
¥ X 69 71 85356898

FERLEE

2/6 132m? #s ik E 17 i
& B 195 77 85435022,

A%EZ#

5/6 65m? A A i £
3% 83 75 85356861

FERLER

1/6 117.39m? F5 35 £ B %
= 185 77 85431622

R #r

4/4 60.5m? B5 AL AR EF Al
] 720 75 77 85405396

FERLEE

5/18 90m? F= =M
# 131 77 85431622

REHE

6/7 107m? F5 % = = 5 W,
k5 168 71 85402328

FERLEE =

4/6 83m? T HHEE AL
B 4E m i 85435022 ML

‘,.'l‘. IIE"!"'

7/1168.13m? f fE A 4L i i
B [85t47 78.5 77 84437677

5 MRt E

6/7 94m? HHE/INX £/

_% 172 77 85402328

6/6 522m* INF R B ==
)\ £ 58 71 85237219 5= “F% |

3/6 103m? & EE %
12& 84.8 77 85381802

ZHRAHE

1/6 42m? FEEEH 1%
[ 60 75 85791587

SRAMH | 5

1/7 44.08m? i# AL & s
it F 56 77 58718892

REF 44

MFI=H &

4/6 78m? 15 FE B K
i+ 76 75 85235259

o]

3/6 57.38m?” (R W 1%
63.8 77 58791210

2/6 68,89m? BN fEHE
¥ 55 74 77 51167460

hR(]

777385m? R =Bk a
it % 0 100 77 85635005

+¥#25

1/6 63.38m? 1 A O
m? BEF 0 77 85433411

1 R

67 63 R WA % O
#F ¥ 3¢ 81 71 85635005

TFE 05

2/6 58.4m? R 4T %
& 72 77 85436067

/NEET #

4/7 53m? 5 3 2 B B
fr £ 64 75 85506683

HRE 3%/1 13?357":1 8§$§665 L' g0 %%ggg%m%%%%ﬁgzﬁg {7&” 1;1}0?% %ﬂﬂsigs%is;éli BEHWLE %s)g 0%277"312 gs:ﬁﬁéﬁ =ik %@?%%ﬁ%sgsﬁg R 40 44%?8[4%? ﬁﬁﬁ 1§;ﬁh WNEF gs%es;ggn ﬁ%g?'o%sgsss
BRI (5 10 0 soazsaon AL U5 S [/ 5 100 7 avassser BRTE L 1207 aeyor5a0 o MR 141 750 7 sssmiaoe, NESER 2 Ta0s 7 sssosgiz ZE PR AT 505 0 7 ssearasn
PHENRERZ %1);1; 22@27?1 ;ésusé%gi Ly [P %6{13%]02 %&8?7;;19:% =ik %‘?ﬂé‘" 8 5 ;353?8188}; HEXR {42%2 g 522;;555815 = %1{%?&2'”? ;a' 8'55066%
PREHAERE %5t 196 noscasos ML UX BB G112 2% sassveas MAINE| LS8 » scserons SSAPIEE 5 a0 7 asss0370, o M 4 5+ a8 7 sossrers MIBBLLEE 355070 77 ara16as B B — 55750 ' aetaace
PREHAERE 275 950 2 sos30006 ML U BB Eich oo ssssoee: WMMILIE |13 05 7 ssazsrn SSEPEE T oq % aaasrery o M e 00 1 auassase BB 15700 sararess = PR AF| L5577 7 sarrseon
PRBHABRL L 150 bossrose ME WX S Z-% 105 sussosss MMM | 5°2°%0 & ss7arars) S APAEIH 27 ob 2 3y buobints) e K 51 1t o1 7 serorsse MALTIEE 2iies ae 5 oaveoore) 1882 5 B iy L ‘B0 7 acoonoos
EHIRH 1575 s amaaoana A A BB o e I INE | 3500 T soroiean SL BB IE B 5 n o sanarer = TR 7 23 HIIIE L5 dososcn FIF—H Wnic oo r soarerzs
EBHH 15500 tirosas WL B B '/ 5 sassrars MmN | 240’63 7 ssasvons < ABE B ?sf?%"i *;*%‘457%% teEDE SO, *;*és—sﬁﬁ% B 42 8 §ons, 5 sosotst IR L AL Bl Wms 75 7 sacress
HLBLIE B 5% o sedasao0) 16 B8 B8 205770 5 snaonsss WA |15 Tos 7 sosazorel >SS BBEE 5 55" soasoazo 1A E/INK | ¥ 25T W sasmats BEEEF R 2028 7 sbssosto AL UM 12 oF o 2 as7io800
HLBIEEE 25500 2 acarasta] 16 BB B 54 115 57 aoaovze P SR 557 750 5 sbssesst| < ABAE B 25 06 asssosro| MM MY 743E 68 7 assosest MULMARE 2% 152 5 sorerare 2 PRI HT 15 %2 ™ saesrsnt
IERE S 105 saseosr T PR IB 200 0 2 saasoons Pt BRI | 2 42" anaaaans SSEBIEE 32° 57 sosaosvo ILIMERE 1'% 15 % sobecens WKHBLUEE 2% 300 7 s5197287 — ==

BRI E 55806 soarccos I PR B L' ie 7 swsoszys W AR M % si 150 7 sosensiz SSAPEE % 83" aaasvess BC AT hm s B ssasacos B VML 22T varornss BUBHIKIE 7ok 755 7 sesessss
BEWE 5157 5 5050 2R AT Y %4 1057 ssavoso Wt S| 50 % sesonerz S EBTE B 2 62 Y5 saasrens M 415 | L5P90E I soansors MIERERH 1053 50 sessoots BRIBAIKIR Z'' 6% % chesosso
BEWE L7505 esnoere 2 75 YR L5015 7 Tnvacen Wt R | 50 20k 5 osaesis SSEBTEE o 07 sasorons AU 1008 1575 00 2 bdesoos MBE— T 2000 7 sosserte BUBIIZKIN 2L s 2 ssssonss
B 010" soiseare 2R J3 Y8 a7 7 ssareces WHRNIEE 2 154 7 aszaezo < BAEEH 5ss 330 7 sassrory TSI K| X 2°55 7 asaossss BERITIN.'Z 165 7 sasasnoz
AEIEZH VS 72 7 saseson FARR BT 515705 doiioses AMPHRHE 11 1137 “stseasse S5 M AR 5 505 seasoszo TIARALIE X 12 65 7 satsesss B FEE %° 02" ssvors10 MARILIH s 1900 5 saoasess
Jb3e =+ TPS 637228%7[8;364&1&@ s F &t %557% i7’%%23"3'541:|02ﬁ3?z’% KRR %1 13%39;2 sﬁ%&m MR ?T/r%r’%gzﬁﬁsﬂ';%% BN E %%5%377?25%&33 23R %?J&%T?é%ﬁé% WERITHN %2{3; %esr_gz %%Es?s%sgz
AE3E = H LT 6a 7 sesoseos) B T 508 7 ssaossse AMPHEHE 5 1 Tas 7 sossizre WA —H| B/ 1507 sanerots She4 FB| 117 47350 % sosooess B FERR % 4 55 % sserasos sL FEIKYM 2 5 on s 7 sassssen
JesE—+ ‘&?@%‘fs“ﬁmé*?éséﬁsso KRB 25T, aroan KARHRNE L' 205 7 sssossae LA — M b 2107 seeccors MOMEB IR % 19975 sarorsse Bt FE B 20 as % soseecss + L FEIKIM 1l i 05 Soseonss
ALFE—# TF RS sosvenes, IR B B 5°2°0 2 Fraone BN TE & | Ll 0 samnner MRAE AL B 3G S0 = snsocssn| i FEALIE 3k 120 7 onosiove TNTEEE Loy 3%’5%“%53‘&% K NI 17 5 575 7 sosneese
JEIEZ B 502105 sostsror 2o To D U vis 5 sosocses TR KB & 155 7 ssroroer ML LB L0 55 7+ sesousss) i FELLEE | 2° 58" ehsanzes FRMTHEEE 55 100 5 3016308 F< YK %' 2 52 » sess0002
JLSEZ B UL straraso BRHALES 5% o ‘Soassars 2R 73 KB\ % oo b saroress i BB 2774 aesssprs) SHUE 18 527 7 sessotao TERTEERR i vsa 7 asorasos, I iEV Y &L 1157 7 ogotonos
JLFEZ B F0 555 Gessvees BRHEAES ank ion s sossosss 1 K BB 1 5 200 = susorony PAIETE IR 100" snrsnnos B0 L HWTAT St Tas 7t bososoon TERTEEE s i 1ot oy ioae  BARLIHER| 2% 25 = asssovor
MFNE LA T sciooer KL LU BE L5000 msasbosy TR A K BB 122 220'% sesozort| PAICTE IR % S50 1 acsasose AN MBI B i3 5 146 2 soaresos TN R L 4'S5: % cosnacoy MEAAN 06K &' 5: 5 77 Sasaonss
SIFRNE 10050 7 taroan LG 157 B 205" o0 deanaars L L Bi#E 5385 7 susasrel PATETRE IR 22 oo soussser] B LUIFETE 5 20" massrons BETEE Sy mut sosroata MIEHIK I | 155 78 77 osasosss
AFHDE 0 S soarazy, T HBEl 55 100 52 sessasrs W LA |54/ 90 1> oesonsss B IL AL JE S s0rs 3 sosonses FRTEILE G5 20" saarcnen & B TEE 1 150 7 ooy rvnen A EMAEH 7 & 500 2 Sasssss




